N & o & AF & H Al A
20198 & =04 LBHSIH ASHMBARA
FN: NSHMBARA
M WE X
SHel: WA AL (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NE2NBAMRA 124,337 114,016 10,321
ME X2 99,102 88,800 10,302
el g dAEt 99,102 88,800 10,302
SV HAUWERD 75 20,000 20,000 0
203 YR =& 20,000 20,000 0
03 A FXH S =AY 20,000 20,000 0
ONMSHSARAL HRFA 20,000,000& 20,000
M HE 29 79,102 68,800 10,302
201 Let24d] 47,222 40,960 6,262
01 At 22l 36,540 36,400 140
OYXZ(EAM) 16,800
ONMEMNRA 750,000& = 12& 9,000
OMZB AR A 650,000& = 12& 7,800
ONZ & NMBARA 29I 8,720
OZeldl 4,800
“NEAMRA 150,000& * 12& 1,800
L ESPNE 250,000& = 123 3,000
OMEEFHI 150,000& » 204 « 12& 3,600
O& M EHI 40,000& * 20 * 43| 320
OANE 2285 M 20,000& = 5004 10,000
OF=Jl X2l 35,000& = 104 » 12& 420
OuNxstz Sd= 50,000& = 12& 600
02 =224l 10,682 4,560 6,122
OAOIETV MEZ 21,000& * 1A + 128 252
OEANINARS 660
ONMEMNRA 50,000& = 12& 600
OMZB AR A 5,000& 128 60
oolsdar3 80,000& = 208 = 12& 1,920
oZ2=sxg 22 7,850
OE8g= 800,000& = 1CH 800
O XS XAl 150,000& » 104 150
OXtg el 6,900,000& « 1CH 6,900
202 Oddl 26,880 27,840 A 960
01 = LH o4 1l 26,880 27,840 A 960
O 2tLH o 1 5,760
OMS 10,000& = 2% * 8 * 12& 1,920
OM2 20,000& = 2 * 8 * 123 3,840
O&2| ™o dl 21,120
OMNMZEE 30,000 = 2 * 8 * 123 5,760
OMZEE 80,0008 = 2 * 8¢ » 12& 15,360




AN NSHNEMRA

g HWE N

SHel: WA AL (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 5,000 0 5,000
01 AL ESFH S 5,000 0 5,000
OLE=S 1,500,000 * 2CH 3,000
ONSAR A ALRIR 2,000
OARE M 200,000& = 14 200
OMEE R 300,000& = 124 300
OF 111 300,000& * 12K 300
OO0ISAMEH 200,000& = 14 200
Oz X 400,000& = 14 400
oslad& X 150,000& * 44 600
HYRIAZH (MSHNBEARL) 25,235 25,216 19
el 2l 11,123 10,804 319
ol i 11,123 10,804 319
101 1244 Hl 11,123 10,804 319
01 2= 11,123 10,804 319
OAZteZ2RY
10,2993 = 3H = 30AI2t = 128 11,123
Jl=234l 14,112 14,412 A 300
JlE&l 14,112 14,412 A 300
201 Let249] 5,072 5,072 0
01 At 22l 5,072 5,072 0
oJl2ge#AH (OIE2H])
500,000& = 49H 2,000
OZ3ZHI(JI&ZHl)
8,000& = 4F « 8¢ » 123 3,072
202 04l 7,680 7,680 0
01 = LH 4 Hi 7,680 7,680 0

O=2UWobl(21=dHl)

20,000& = 4% » 8¢ = 12& 7,680
203 R =&H| 1,360 1,360 0
02 ZRJtaty R =8| 160 160 0
OJIZ= X (100H Dt ) 40,000 » 49Y 160
a 1,200 1,200 0

O©JIZE A (52015t) 100,000& * 12& 1,200




